Ed==RT R
IR S IR
. . WV—Q202

FH = B BAE AP A, IR 2B R
AT R 5 5 i ) O 2% A 2SR PR PRS2SR (24014 ),

Panasonic

TRAE
FeTF 223k IES UL A B SRAF AL F BB S
HEm
FEFHBEIITS (AR )i, 1A
FLAETZE0E TR FHIZRET (M3 X 10 e 475
HLZR 22 S IZET (MA X 10 oo 495
g
NI 88mm () x30mm (95) x30mm (&)
. 2490 g(14~) FMALIE . AL RZ MR
FREEENRNEARESE @3
R ARR
AR %(Pb) | EHo) #(Cd) AHECHVI) £MBE(PBE) | %KM (PBDE)
Wt O (@] (@) O O O
AR O (@] O (@] O O
B4 @) O e} O o) e}
RRIRIKIESI/T11364 I E HH o
O: RRZEAEYREZSGAEHRMEI RN EEMEGB/T26572 M EHIREERUT,
x: RANZBEVRZEVEZBENE RS EBHGB/T26572EMNREE K,
MTREMERE (HM) BRAF
IHEARNEFXIETIK14785
Printed in China
Rt . HRE Imprimé en Chine
http://panasonic.cn Gedruckt in China

Stampato in Cina
Impreso en China
© Panasonic Corporation 2017 HaneyataHo B Kutae

RAT : 2018491 Ls0417-1068 PGQW2090YA  7&H [ Ef il

Panasonic

HuNEREE S
SvOII> hER
S aa WV-Q202

COEWE, INFYVZwIRBEBEWVWLITWERESE, £ &ECHDHAEDTNET,
OEUNEREAZEZ KL< PBFHEADIX. EULKEEICHBBENSZE0N,

AL BIFEODRY ND—0F 4 XOL -5 - HOSYvIR I b&E (2f8148) T

mO A

BOMITAE. Ry ND—05F 0 RO T0—4 —OEUNGHIAE HBEREZ DA <IES0,
TEm

)0 N 2 = = == 11

SwOTIY MEBEEHTRL (M3X10) it 47K

SwOTIY MEBEEFHTRL (MA4X10) ot 47K

Tni ]

[ P @30 mMm x =88 mm x B{730 mm

ouE #190 ¢ (118)
ot ElF VU RASU W IREMR

NFYZvI SRAFLABEERIHEHE >9 -

N F N

w2 @ 0120-878-410 2051080,

MIEHEBE - PHSO SBCHAICHENE T,

NV ZvIoB%A et
AT T4y RV U1—2 3Vt

T812-8531 tEMEEEMMEZXEEFENTH1EG2S



Panasonic

Operating Instructions
Rack Mount Bracket

© Model No. WV‘QZOZ

Before attempting to connect or operate this product, please read these instructions carefully
and save this manual for future use.

WV-Q202 is the rack mount bracket (1 set of 2 pcs) for network disk recorder.

H Installation

Refer to the Installation Guide of the recorder how to attach to the recorder.

M Standard Accessories
Operating INStructions .........ccccceeeiiiiineeenn. 1 pc.
Rack mount bracket fixing screws (M3 x 10)
Rack mount bracket fixing screws (M4 x 10)
M Specifications
Dimensions: 30 mm (W) x 88 mm (H) x 30 mm (D)

{1-3/16 inches (W) x 3-15/32 inches (H) x 1-3/16 inches (D)}
Mass: 90 g {0.20 Ibs} (1 pc.) Finish: Solid metallic coating, steel plate

<Francgais>
Nous vous recommandons de lire attentivement ces instructions avant de raccorder ou d'utiliser
cet appareil et de conserver précieusement ce manuel a des fins de consultation ultérieure.
WV-Q202 est I'équerre de fixation en rack (un ensemble de 2 él) pour I'enregistreur numérique
réseau.
H Installation
Reportez-vous au Guide d'installation de I'enregistreur sur la fagon d'attacher a I'enregistreur.
M Accessoires standard
Manuel d'utilisation..... 1 él. Vis de fixation d'équerre de fixation en rack (M3 x 10)....4 él.
Vis de fixation d'équerre de fixation en rack (M4 x 10)....4 él.
H Caractéristiques techniques
Dimensions : 30 mm (L) x 88 mm (H) x 30 mm (P)

{1-8/16 pouces (L) x 3-15/32 pouces (H) x 1-3/16 pouces (P)}
Masse : 90 g {0,20 Ibs} (1 él.) Finition : Téle d'acier a revétement métallique plein

<Deutsch>

Bitte lesen Sie diese Bedienungsanleitung vor dem AnschlieBen und der Inbetriebnahme dieses
Produkts aufmerksam durch und halten Sie sie jederzeit griffbereit.

WV-Q202 ist die Rackhalterung (ein Satz von 2 St.) flr Netzwerk-Diskrekorder.

H Installation

Weitere Informationen finden Sie im Installationshandbuch des Recorders.

M Standardzubeh6r

Bedienungsanleitung.... 1 St. Befestigungsschrauben flr Rackhalterung (M3 x 10) ..... 4 St.
Befestigungsschrauben flr Rackhalterung (M4 x 10) .....4 St.

M Technische Daten

Abmessungen: 30 mm (B) x 88 mm (H) x 30 mm (T)

Masse: 90 g (1 St) Lackierung: Massive Metallische Beschichtung Stahlblech

<lItaliano>

Prima di tentare di collegare o utilizzare questo prodotto, si prega di leggere attentamente
queste istruzioni e di conservare questo manuale per usi futuri.

WV-Q202 ¢ staffa di montaggio a rack (un set di 2 pz.) per registratore su disco di rete.

M Installazione

Far riferimento alla Guida all'installazione del registratore su come collegare al registratore.

M Accessori standard

Manuale diistruzioni ..... 1 pz.  Viti di fissaggio della staffa di montaggio a rack (M3 x 10)....4 pz.
Viti di fissaggio della staffa di montaggio a rack (M4 x 10)....4 pz.

M Dati tecnici

Dimensioni: 30 mm (L) x 88 mm (A) x 30 mm (P)

Massa: 90 g (1 pz.) Finitura: Lamiera d'acciaio in rivestimento metallico solido
<Espaiol>

Antes de conectar o utilizar este producto, lea atentamente estas instrucciones y guarde este
manual para poder consultarlo en el futuro.

WV-Q202 es el soporte de montaje en bastidor (un conjunto de 2 piezas) para grabadora de
discos de red.

H Instalacion

Consulte la Guia de instalacion de la grabadora para adjuntarla a la grabadora.

M Accesorios estandar

Manual de instrucciones .... 1 ejemplar

Tornillos de fijacion de la soporte de ménsula de montaje en bastidor (M3 x 10) .... 4 piezas
Tornillos de fijacion de la soporte de ménsula de montaje en bastidor (M4 x 10) .... 4 piezas

M Especificaciones

Dimensiones: 30 mm (An) x 88 mm (Al) x 30 mm (Prf)

Masa: 90 g (1 pieza) Acabado: Chapa de acero de revestimiento metalico sélido

<Pycckumn>

Mpexae Yem NpUCTyNUTb K MOACOEAUHEHWIO UMW YNIPABIIEHNIO HACTOSLUMM U3Jenvem, creayet
TLATENbBHO M3YYNTb HACTOSLLYIO UHCTPYKLMIO U COXPaHUTb ee Ans GyayLiero ncnonb3oBaHus.
WV-Q202 Takoe KpOoHLITEN A1 MOHTaXa B CTONKY (KOMMMEKT 13 2 WT.) ANS CETeBOro
OMCKOBbIV pekopaep.

M YcTaHoBKa

MHopmaLmio 0 npukpennTb K AMKTO(POHY MOXHO HAWTWN B PYKOBOACTBY MO MOHTaxXy.

l CtaHpapTHbIe akceccyapbl

WHCTpyKUMa No akcnnyaTauum ......... 1wt
BVHTbI KpenneHns KpoHLTeNHa Anst MOHTaxa B cTonky (M3%10) ......... 4 wT.
BuHTBI KpenneHns KpoHLUTEHa ANs MOHTaxa B cTorky (M4x10) ......... 4 wT.

l TexHUYeckue xapakTepUCTUKU
MabaputHble paamepbl: 30 mm (wwmp.) x 88 mm (BbIc.) * 30 mm (rn.)
Macca: 90 g (1 wr.) Otpenka: CTanbHOM NIUCT C NOKPLITUEM M3 cepebpsiHOi Kpacku

For U.S. and Canada: For Europe and other countries:

Panasonic Corporation of North America

Two Riverfront Plaza, Newark, NJ 07102-5490
http://business.panasonic.com/

Panasonic Corporation
http://www.panasonic.com

Panasonic Canada Inc. Panasonic Corporation
5770 Ambler Drive, Mississauga, Ontario, L4W 2T3 Canada Osaka, Japan
1-877-495-0580
https://www.panasonic.com/ca/ Authorised Representative in EU:

Panasonic Testing Centre

Panasonic Marketing Europe GmbH
Winsbergring 15, 22525 Hamburg, Germany





